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CHILD DEVELOPMENT AND PEDAGOGY / wre fawma 7 forarrormen

Directions : Answer the following qwestions by | 89 : m”*ﬁﬂ‘#*ﬁwnwm
sclecting the correct/most appropriate option. IR oo gfie

. A conducive classroom environment for|1, mmimtmmam

learning in middle classes centres around R — g B.M'IQ l
4 )  HEwrf

(1) co-operative learning ":;) T mm ¥ w

(2) fear of punishment and embarrassment . ﬁ wfttzt

(3) competitive ethos
(4) conditioning and reinforcement

2. How can a teachor help Aman who is
struggling with complex problems develop
problem-solving skills ?

(1) Tell him to give up on the problem

(2) Encourage him to brainstorm and
generate ideas

(3) Discourage him from experimenting and
taking risks

(4) Provide him with the answers
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ing dp standard i T 7 e o e R
3) leunenunmnsmmtknowlednwhm U3 Qmmtﬁqra;gﬁumm
provided with a facilitative environment e fvu 9 W T 3= = Bl W=
to do so. A ¥
(4) learners know little and teaching involves @ o ®n TR 3 aik frew § Rt
transmission of facts to students. %ﬁﬂﬂﬂ’fﬂmmtl
4. Students struggling with ‘dyslexia’ can be|, gz fygrdf o Seadwey A @ R &, |1 @A
taught to read : feraran =1 T &
(1) by providing higher grade level rading (1) ¥ e W ¥ YA 09 TH W 17
toxts, : k(z)ﬁﬁMﬂMﬁtm
(2) by encouraging them to study in multiple SR E |
distractions. ’ mgﬁﬁmﬁtﬁﬂm
hment to @ TS
(8) through use of strict punishmen 72 ¥ I9m & e & | N
ensure corrective reading. *m |
(4) through systemic phonological training. 4 m TR W
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A1 e fem o wfedi & ww aed & wne

Sibling relationships :
{1} nre similar to relationships with parents

and peers and play sn important rele in
socialization throughout childhood,

are different than NMF with
parents and peers and play an important
childhood.

play an important role only dm uf[y
childhood.
(4) do mot have much role in socialization,

2)

(@

Read the following statements and choose the
correct option :

Assertion (A) :

Consideruble  variations  exist  in
developmental rates among children,
Reuson (R) :

Developmental differunces are an inevitable
result of complex internction of genetic and
experiential variations,

(1) Both (A) and (R) are true, but (R) is not
the correct explanation of (A),

(A) is true, but (R) is fulse.

Both (A) and (R) are false,

Both (A) and (R) are true and (R) is the
correct explanation of (A),

(2)
(3)
(4}

Which principle of development is illustrated

in the following statement ?

“Children who are deprived of a conducive

environment for learning language in their

early years have some difficulty in picking

language later in life.”

(1) Language and cognition are complexly
interrelated hpexams.in

(2) Development of language is totally

dependent on genetics.
(3) Development is  disorderly and
unpredictable.

There is a sensitive period of language
development.

(4)
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8.

10.

11,
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Which of the following questions promotes|8, Frsfofay i 3 wHw vw L
critical nnd creative thinking in children ? RIS 3 vaames i o) T 4 B o
(1) Where does water come from in your () ¥ q will wrl @ s B o

ity ? y:mm&mtmmmm
(2) Which can be the best way to save water R-ﬁ:l.m ﬁ A t K ?

and why ? ) mi:imﬂg:aﬁmﬁmmm1
(3) How many states and how many capitals Tavfg] [ -

are there in your country ? W 3k 2w W oam o3 wRn w v
(4) What is the name of your country and its it feafy e 8 2

geographical location on the map ? 9. TR forey w0 wftrer # 2
What does inclusive education entail ? W) Ml :ﬂ 37 Tl & AL
(1) Segregation and categorisation  of @2 m * il

students on the basis of their abilities @) fivy ’:%W St
(2) Standard curriculum for all learners =maEfys fen & # ¥
(3)  Provisioning of only vocational education @) =fem s # vrem oy

to learners with special needs iRt #§ weeng ¥
(4} Flexibility in the curriculum as a result of 10. BEETATEE fim i

recognition of individual differences o % e # w L

What is the role of evidence in critical
thinking ?

(1) Evidence ghould be accepted without
analysis.

Evidence should be evaluated in a logical
and systematic way.

Evidence is irrelevant to critical thinking.

Evidence should be ignored in favour of
personal opinion.

(2)

(3)
(4)

Read the following statements and choose the
correct option :

Assertion (A) :

Jean Piaget and Lev Vygotsky differ in their
perspective on the influence of language on
cognitive development in children.

Reason (R) :

In  discovery learning, teacher provides
opportunities and students derive information
for themselves,

(1) Both (A) and (R) are true, but (R) is not
* the correct explanation of (A),

(2) (A)is true, but (R) is false.
(3) Both (A) and (R) are false,

(4) Both (A) and (R) are true and (R) is the
correct explanation of (A),

ll.
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13.

14.

15.

16.

(

In a progressive classroom, the students :
A, do not ask many questions,
B. ask questions to the teacher,
¢. ask questions to each other,
p. ask themseives questions.
Choose the correct option :
(1) BandC
(2) Band D
(3 B,CandD
4) A
tions associated with being male or

female are referred to as and these
are Jearned
(1) wender

adolescence

constancy, initially during

(2) gender roles; throughout childhood and
into adulthood

(3) gender stereotypes; only during middle
childhood

(4) gender bias; mainly during early
childhood

Which of the following views about
intelligence  supports  the  respectful
consideration of diversity among learners ?
(1) Intelligence is not influenced by genetic
factors.

Intelligence is not influenced by
environmental factors,

IQ tests are the only measure of

intelligence.
Intelligence is multidimensional and can
change over time.

Who among the following critiqued the

of ‘general’ intelligence and proposed an
alternative theory of intelligence ?

(1) Howard Gardner

(2) Jean Piaget

(3) Lev Vygotsky

(4) Charles Spearman

Lawrence Kohlberg's lh;‘!

critiqued by Carol Gilligan lor :

(1) not applying quantitative methods of
analysis. .

(2) ignoring gender differences in moral
reasoning.

(3) presenting a stage-theory of moral
development. )

(4) collecting data by means of reallife
situations.

(2)
(3)

(4)

has been
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17.

18,

19.

General principles of learning suggest that
students loarn better if a teacher :

(1) first discusses what is not known to the
student and then comes to what the
student already knows.

t2) first introduces the concept in its
symbolic form and then moves to its
physical form.

first introduces the concept overall and
then moves on to the intricacies of it

first discusses the concepts in terms of
logic and reason and then grants
opportunity to verify the ideas.

3)

(4)

A teacher wants to help her students develop
metacognitive skills. Which of the following
strategios would be most effective ?

(1) Encouraging students to reflect on their
own learning and evaluate their progress
Providing frequent grades and feedback
to motivate students

Assigning texts to students to memorize
and encouraging them to repeat
information from the textbook

Providing students with detailed and

prescriptive instructions for all learning
tasks

(2)

(3)

4)

Read the following statements and choose the
correct option :
Assertion (A) :

Teachers should ask students to identify their
own examples and non-examples of the
concept for strengthening the coneept.

Reason (R) :

Thinking of examples leads to strengthening

of the concept while non-examples tend to
confuse the students.

(1) Both (A) and (R) are true, but (R) is not
the correct explanation'of (A).

(A) is true, but (R) i= false.
Both (A) and (R) are false.

Both (A) and (R) are true and (R) is the
correct explanation of (A).

(2)
(3)
4)

18,

19.

(19
v
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(2)

(3

4)
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(7)

g,um‘mj:

students 10 engage in critical self.reflaction.

(1) ButhM}lnleJmum,MImhm
the correct explanation of (A),

(2) (A)is true, but (R) is falge.
(8) Both(A) and (R) are false.

(4) Both (A) and (R) are true and (R) is the
correct explanation of (A),

Whiat ie e Jdifference DETween mastery

and performance goals ? —

) Mmcyml-mfnmudmmm
one’s own skills and understanding of
task, while performance goals are
on achieving a high grade or receiving
external rewards.

(2) Mastery goals are focused on avoiding
failure, while performance goals are
recognition from others,

(3) Mastery goals are focused on gaining
approval from others, while performance
goals are focused on avoiding failure.

(4) Mastery goals are focused on achieving a
certain  level of performance for
competing  with  others,  while
performance goals are focused on
improving one’s own skills and
understanding of a task.

Which of the following is an example of

intrinsic motivation 7

(1) Playing a mousical instrument for
personal enjoyment

(2) Completing the project to impress the
teacher

(3} Studying to avoid being scolded
(4) Participating in a competition for the

i)

prize money
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23. According 1o Piaget, the four qualitatively

{

different stages :

(1) lustrate that children's minds
miniature adult minds

(2) vary vastly ncross the various cultures in
the world.

(3)

the children,

represent

development of children.

(4)

Lev Vygotsky believed that development ;

(1) is an unfolding of genclic programming.
(2) is discontinuous in nature.

(3)  results directly from maturation,
{4)  results directly from social interaction.

Which of the following is a limitation of

Piaget's theary of cognitive development ?
(1) It does not account for individual
differences in cognitive development.

It overemphasizes the role of language in
cognitive development.

(2)

(3)

biological factors
development.

in cognitive
(4)

culture and social factors on cognitive
development.

Read the following statements and choose the
correct option :

Assertion (A) ;
Every year Lata, a Class VII teacher invites a
female maths professor and a male nurse to

her class to discuss careers in these fields,
Reason (R) :

Gender differences are innate and not
acquired through society.

(1) Both (A) and (R) are true, but (R) is not
the correct explanation of (A),

(A) is true, but (R) is false.

Both (A) and (R) are false.

Both (A) and (R) are true and (R) is the
correct explanation of (A),

(2)
(3)
(4)

Are

are dependent upon the genetic codes of

universal  patterns  of

It does not account for the role of

It does not account for the influence of

B)
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g7. Which of the following statements is correct in
the context of hearing impairment 7
(1) All children with hearing impairment
need to use ‘mgn language’ w
communicate.
Hearing impairment can affert g child’s
ahulity W communicate effectively,
Hearing impairment of a child can be
reliably tested by making loud noises
near the child.
Hearing impairment i« always due to »
physical problem with the ear.

Which of the following set correctly mentions

the characleristics en which students who are

gifted typically differ from other students in

the class ?

A. Advanced depth of understanding

B. Fast pace of learning

C. Higher dependence on others for
understanding

D. Rapid physical development
Choose the correct option :

(1) BandC

(2) A, BandC

3) B,CandD

(4) Aand B

In the context of inclusion,

learning expectations are the same in ~
while in they are different.

(1) modification; accommodation

(2) enrichment; acceleration

(3) acceleration; ennichment

(4) accommodation; modification

According to constructivist theorists, which of
the following statements would mot be
correct 7

(1} Learners construct knowledge in their
social and cultural context.

(2) Knowledge is subjective.

(3) Learners need to be extrinsically
motivated to ensure effective learning.

(4) Knowledge is pluralistic and multiple.

(2)

(3)

4)

aurvicre
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Directions
selecting the correct/most appropriate option.

31.

32.

to the above three questions ?
(1) B and C are daily life problems based on

(2) Only A is based on unitary method.
(3) A and C are daily life problems based on

(4) A and B are daily life problems based on

PART I1 / 91 11

~

MATHEMATICS AND SCIENCE |/ wfora o faam
R : st o & 9 97 F 70 00 g

¢ Answer the following questions by

The statement “1 less than or 1 more than a
multiple of 6 are prime numbers” is an
example of :

(1)
(2)
(3) Conjecture
(4) Axiom

Theorem

Generalisation

A mathematics teacher posed the following

problems to her students :

A. Simrat pays ¥ 60,000 as rent for three
months. How much will she have to pay
for a whole year if the rent per month
remains same ?

B. Cost of three dozen bananas is ¥ 45.
Calculate the number of bananas that
can be purchased for T 12-50.

C. Joey and Jenny are going to school. Joey
started walking before Jenny. When Joey
was at the third block, Jenny was at the
first block. If both are walking with the
same speed, then where would Jenny be
if Joey is at the ninth block ?

Which of the following is correct with respect

unitary method.

unitary method.
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34.

g3. A teacher in her class discusses various
examples from daily life situations like a
railway line crossing several other lines, a
road crossing two or more roads, alphabets
like ‘H, ‘Z), etc.

Which of the following concept(s) can be
introduced through these examples ?

A.
B.
C.
D.

Choose the correct option :

(1)
(2)
(3)
(4)

Which among the following is the most
appropriate way to teach mathematics ?

(1)

(2)

(3)

4)

(11

Line segment
Transversal
Parallel lines
Right angles

Only A
Band C
AandD
Only B

Find the low performers and make them
sit in the front row of the class

Find the gaps in learning and address
them only
Teach every student with the same
approach
Motivate the learners to develop their

)

34.

existing capabilities
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35.

36.

37.

Which of the following is true for Continuous
and Comprehensjye Evaluation (CCE) 7

(1)

(2)

(3)

(4)

Which of the following is/are essential features
of a concept map in mathematics ?

A. It represents a conceptual analysis of a
concept using contributory sub-concepts.

B. They are directional, with arrows
showing which concepts are prerequisite
for which others.

C. They cannot be used for diagnostic
purposes to identify difficulties in
learning a particular concept.

D. They cannot be used frequently as they
are very time consuming.

Choose the correct option :

(1) OnlyC

(2) BandD

(3) CandD

(4) AandB

Which of the following is mef true about
nature of mathematics ?

(1)

(2)

(3)

(4)

For CCE, teachers fee] that each one of
them has to give some home assignment
every day to assess children’s learning.

In CCE, assessment process includes
assessment  of previous knowledge,
understanding level and learning process.

CCE is all about converting marks into
grades.

In CCE, there is more testing and less
teaching.

Primary concepts in mathematics are
abstract in nature.

Mathematics at school level requires
special aptitude in learners.

Mathematics is based on deductive
reasoning.

Mathematics is much more abstract and
hierarchic than most of the other subjects
which children learn at the same age.

36.

37.
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38.

(13)

Which of the following statements are
appropriate regarding “Argumentation” in a
mathematics classroom ?

A. It can be understood as a line of
reasoning that intends to show or explain
why a mathematieal result is true,

B. Itis always helpful in mathematics in the
same manner as in other empirical
disciplines.

C. It can also be a part of the heuristic
approach in mathematics education.

D. It is less useful for elementary grade
students as its assessment will be
difficult.

Choose the correct option :

(1) BandC

(2) AandC

(3) AandB

(4) AandD

A conjecture in mathematics is :

(1) a proposition or conclusion that has been
proved.

not important at all as it does not help in
developing mathematical understanding.
important for students of secondary level
only.

a proposition or conclusion that is
assumed to be true on a tentative basis
without proof.

Which of the following statements is not
correct with regard to a mathematics
textbook ?

(1) A mathematics textbook should have
solved examples only. -

Examples in a mathematics textbook
should be related to daily life of the
students.

A textbook of mathematics should not be
very thick or heavy.

A mathematics textbook should. have
varied exercises to give practice to

(2)
3)

4)

(2)

(3)

(4)
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(14)
J198 0 F50 = Y99 x 3
41 If x= 19 x‘/g‘;’o and y = Q/'gﬁx:\]mﬁ.'}, then|41. qﬁ x = J198 % 550 3 y * J?G'B %,
.l_+lisequnlto: ;ﬁ_l_*la'{[a{%
X y i x y
(1) 003 (1) 003
(%) 601 2 001
3) 033 @ 035
(4) 01 @ 0
42, If p =(12:34 x 10'%) - (5:67 x 10%), then p is e 10y (re7 x 109 2, T 03
expressed in standard form as : 42. 4 p = (12:34 x 10) (567 "m R ’ P
(1) 11773 x 1010 T ®9 3 o g eaeh foban :
(2) 11773 x 10! 1) 11773 x 1010
(3) 1-773 x 101 (2) 11773 x 1011
(4) 1-778 x 10 (3) 1773 x 1011
4) 1773 x101°
43. If 313632 = p? x q° x r*, where p, q and r are
prime numbers, then what is the value of 43. ?Jﬁ 313632 = p® o x %7 et b, q s
?1))+ c'17—2]')‘.7 3T TEATE &, @ (p +q— 2r) I A H3 7
1 7
(2) 8
@ 8
3) 9
(4) 6 @ 9
(4) 6
-1
1 - B
i - = Itiplied . 1
44, By which number should ( 4) be multiplie . e 3 (_ %) = o ST T
so that the product is the reciprocal of b
_ZJ-Io W(-%J 1 e B 2
= 16
a ¥ W
! 7
(2) e (2) 16
16 i
(3) - 16 3 - -
: 7
7 @) -
4) - —
( 16 16

SPACE FOR ROUGH WORK / 1% &Td & forq <7g



45.

47.

(15)

P is a point on line AB and PQ is a ray such
that £ QPA = 7x and £ QPB = 5x. Then, the
value of (8x — 10°)is:

(1) 110°
2 118°
(3) 140°
(4) 102°
S is a point on side PQ of a triangle PQR such

that RS = PS = QS. If Z QPR = 15°, then the
value of (2 Z PQR - « PRQ) is :

(1) 60°
(2) 50°
(3) 45°
(4) 175°
When a shopkeeper sells item A for = 384,
then there is a loss of 20% and when he sells
item B for ¥ 400, then there is a profit of 25%.

What is the profit/loss percent, if he sells both
items for a total of ¥ 852 ?

(1) Loss, 5%

(2) Profit, 6:5%

(3) Loss, 7%

(4) Profit, 7-5%

A sum of ¥ 12,000 amounts to ¥ 15,972 at a

certain rate percent per annum in 1% years,

when the interest is compounded half-yearly.
What will be the amount of the same sum in
same time and with the same rate, if interest
is compounded annually ?

(1) ¥ 15,420
(2) 15,840
(3) ¥ 15,950
(4) T 14,520

45'

46,

48.

PavG

T AB W U fig p R % aen

T IHN R fF 2 QPA = 7% 3k 4;1?;:5?;2
T, (8x - 10°) &I 4 ¢ .

(1 110°

(2) 118°

(3) 140°

(4) 102°

fdt Forr PQR # w1 PQ W S wE fiz T
R feqd 8 % RS=PS=qQs 21?317&

 ZQPR=15°%, @ (2 £PQR - ~PRQ) &1 WM

(1)
(2)

60°

50°

(3) 45°

4) 75°

T TF THAGR a5 A N T 384 W aAWA! 2, A
38 20% H T A R 3 J T I B
T 400 T 94T B, 1 IW 25% HT A WA BT
? | AR T8 A agEl @ S e T 852
R A9, A 3TH A /7T wfawa = g 2
(1 T, 5%

(2) M, 65%

@ T, 7%

(4) @™, 75%

T 12,000 i e Uy frdt fAfvaa wfeee aiffs
W T W 1%3&1‘??15,972?!3@%,33
= A GAioE 2t 2 | 98 TR I @
Ty § 3 = 2 ¥ Feadht | soft, o s
qif¥e G aar & 2

@ T 15,420

@) T 15,840

@) ¥ 15,950

@) T 14,520
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PIUG
49. If 5x% - 8y — 20x + 2xy = (x + a) (bx + 2y),

50.

51.

52.

then the value of (a = b) is:
(1) -1

2) 9

3 -9

(4) 1

If A=x%(1-8y%), B=x(xy2—2x) and
C =3y (y — 4x?y), then

A +B-C = pxZ + gx%y? + ry2.

What is the value of (5p +q—1) ?

(1) 10

(2) 12

(3) 18

(4) 8

Which of the following are divisible by 2, 3 and

117

A. 8448

B. 9812

C. 9126

D. 9636

Choose the correct option :
(1) BandD

(2) Aand B

(3) AandD

(4) AandC

The solution of the equation
(x+13):(52xx+4) =§1§ is also the solution of
the equation :

(1) 3(2x+3)=2x+3)
2 50@x+1)=3x+1)
3) 3(2x+3)=5x+1)
(4) 2(2x-3)=3x+1)

(16)
49.

51.

52.

af 5x2 — By — 20% + 2KV =
@ (a——b)mm% 3

(n -1

2 9
3) -9
“4) 1

af A= x2(1-3y?), B=xGy?—2x) I

C=3y(y—4x2y) &,
A+B—-C=px2+qx2y2+fyzg |
(5p+q—r)3ﬂmm%?

(1) 10
(2) 12
(3) 18
4) 8

(x + a) (bx + 2y)3

frfafea § @ #9-8 2,3 3 119 vy §,

A. 8448
B. 9812

C. 9126

D. 9636

Hat f&weg =1 =99 HIfva -
(1) B3R D

(2) AN B

(3) AS3MD

4) A3IRC
.

TRl x+D-(2x+4)_1
3-5x =23 T T

GHiTor 1 it BT B -

(1) 3(2x+3)=2x+3)
(2) 5(2x+1)=3x+1
3) 32x+3)=5x+1)
4 2(2x-3)=8x+1)

=
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66.

(17)

Marks obtained by Sunita in her pre-board
examination are as follows :

Subject Marks
“English 72
THindi 84

Mathematics 96
"Science 80

Social Science 68

If a pie chart is constructed for the above data,
then what will be the angle of the sector

representing marks obtained by Sunita in
Mathematics ?

(1 72°

(2) 756°
(3) 86-4°
(4) 64-8°

The volume of a right circular cylinder of
length 1-2 metres is 4620 cm®. What is the
curvéd surface area (in em?) of the cylinder ?

(Taken=372-)

(1)
(2)
3)
4)

2200
2640
2860
1980

If F, V and E are respectively the number of
faces, vertices and edges of a triangular prism,
then which of the following statements is
true ?

(1) 2F+3V-2E=10

(2) 4F+2V-3E=6

(3) 2F+4V-3E=38

(4) S3F+2V-2E=11

53.

54.

55.

AN g RAE afan § gy f:v:‘:l:
fag 3

st 72

& 84

Tforg 96

fosm 80

amiS s 68

afe, 3w w1 U arE =T =T > 2,
a ghar g R § s s W 2R 9
frsa@e &1 &1 feaen gm 2

(1) 72°

(2) 756°

(3) 86-4°

(4) 64-8°

freft Ta-a<fm Jo= it |98 12 Wi R i
FHHT AT 4620 cm® 2 | 9T FH T TOE

aam(cmzﬁ)wa?(“%m)

2200
2640
2860
1980

(1)
(2)
@3)
(4)

Ik F, v 3R E #aw: 5 Bgeer few 5
Foiehi, Wl R R i deEd E, @
e i e R sm o 2 0

(1) 2F+3V-2E=10

(2) 4F+2V-3E=6

3) 2F+4V-3E=8

(4) SF+2V-2E=11
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56.

57.

58.

69.

(1

What is the mean of the mode, median and
range of the data given below ?

17, 8,11, 13, 9, 14, 10, 11, 16, 23, 15, 7

(1) 1256

(2) 13

3) 135

4) 12

The cost of painting the surface of a solid

cuboid of dimensions 40 cm x 36 cm x x cm at
T 20 per 100 cm?is ¥ 1,032. What is the value
of x?

(1) 15

(2) 20

(3) 24

4) 12

The area of a rectangle whose sides are
176 cm and 56 c¢m is equal to the area of a
circle. What is the circumference (in cm) of the
circle ? (Take = 2)

(1) 352 7

(2) 396

(3) 440

(4) 308

ABCD is a rhombus in which £ ADB = 25°.
Then, the value of (2 £ BAD - Z ABC) is

(1) 240°

(2) 230°

(8) 210°

(4) 260°

PQRS is a quadrilateral in which PQ = PS and
RQ = RS. Which of the following statements is

true about this quadrilateral ?

(1) Its diagonals are perpendicular to each
~otherhpexams.in

(2) Its diagonals are equal.

(3) Each diagonal bisects the angle at each
vertex.

8)

59.

60.

(4) Its diagonals bisect each other.

56.

517.

58.

43 fou e oAt F TR, HEE M ‘"g
o1 e T8 ?
17, 8,11,13,9, 14,
(1) 125

(2) 13

(8) 136

(4) 12

137 40 em x 36 cm x x om AE @mm
% Y3 & T 20 ufd 100 cmzﬁﬁ%ﬁ?m
) @A F 1,028 | xFAAFNE 2

(1) 15

(2) 20

3) 24

4) 12

foreft aTra w1 Bawe, Ryl I9TE 176 em 3y
56 cm?,@iﬂ%ﬁm%m% | 39 %
afifey (cmﬁ)wg ? (n= 27'2' Fﬁﬁ’m)

(1) 352

(2) 396

(3) 440

(4) 308

ABCD UF U4 @, &% £ ADB = 25° % |

T, (2 £ BAD - 2 ABC) 1 UH 8 :

(1) 240°

2) 230°

(3) 210°

(4) 260°

PQRS % wgys 8, T@H PQ=Ps 3

RQ=RS 2 | 9 9949 % IR § Frferfiga # @

HHAT HYT I & ?

(1) 3o faou Tem de |

(2) 3HeF Tl SRR |

3) A% Tl y=e W | wo H@
gufgaTiora &t & |

10, 11, 16, 23, 15,7

(4) TEF fael TER guipiiE F W 8 |
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61.

62.

63.

(19)

Identify the incorrect statement :

(1) Clayey soil is more fertile as compared to

loamy soil.

(2) Clayey soil is better aerated than loamy

soil.

(3) Water retention capacity of clayey soil ig

better than that of loamy soil,

(4) The particle size of clayey soil is much

smaller than that of loamy soil.

Which of the following substances are present
on the rubbing surface of a matchbox ?

(1) White phosphorus and glass powder
(2) Glass powder and red phosphorus
(3) Red phosphorus and magnesium

(4) Potassium and white phosphorus

A and B secrete their hormones
when they receive orders from gland __ C

Which of the following can A, B and C
respectively be ?

(1)
(2)
3)
(4)

Thyroid, Adrenal glands, Pituitary
Pancreas, Adrenal glands, Thyroid
Testes, Ovaries, Thyroid
Pituitary, Pancreas, Thyroid

The image formed by a pinhole camera is real.
Which of the following statements offers a
suitable explanation for this fact ?

(1)
(2)

Light travels in a straight line.

Light diffracts on entering a small
opening.

(3)
(4)

Light is a form of energy.

Light changes its path when it travels
from one medium to another.

Identify the set comprising plants that
produce bisexual flowers :

(1)
(2)
(3)

AN

Mustard, Rose, Petunia
Cucumber, Papaya, Rose
Corn, Cucumber, Petunia

. Carn. Papaya, Mustard

“.
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67.

69.

70.

\

Read the statements given below and choose

the correct option :
Assertion (A) :

Stomach produces hydrochlorie acid that helps

in breakdown of food.

Reason (R) :

Digestive juices need an acidic medium to act.
(1)’ Both (A) and (R) are true,
not the correct explanation of (A).
(A)is true, but (R) is false.

(A) is false, but (R) is true.

(2)
(3)
4)

correct explanation of (A).

What does the term ‘nitrogen fixation” mean ?
(1)
the bacteria present in soil
(2)
gaseous nitrogen
(3)
organic matter back into soil

(4)
more usable form for living organisms

Identify the set comprising cold blooded

organisms.

(1) Pigeon, Humans, Lizard
(2) Lizard, Parrot, Dolphin
(3) Snake, Frog, Cockroach
(4) Whale, Frog, Earthworm

At which of the following positions does a
spring have the least potential energy ?

(1) The spring is compressed to the minimum
and is lying on the ground.

The spring is neither compressed nor
pulled out and is lying on the ground.

The spring is compressed to the minimum
and is placed at a height.

The spring is pulled out to the maximum
and is placed at a height.

(2)
(3)

(4)

Which of the following pairs of units are used
for measuring the same physical quantity ?

(1) kg m%s2, Ws

(2) kgm/s?, Nm

(3) kg m/32 Ws

0 -

but (R) 18

Both (A) and (R) are true and (R) is the

Conversion of ammonia into nitrates by
Conversion of nitrogen compounds into
Release of nitrogen present in dead

Conversion of atmospheric nitrogen to a

LAY
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72.

73.

74.

(21)

A feather of mass 15 g is dropped from a
height. It is found to fall with a constant
velocity. What is the net force acting on it ?

(1) 147N
(2) Zero
(3) 147N
@4) 147N
Select the set that correctly matches the type
of waste given in Column A with the
approximate time taken by it to decompose
which is given in Column B,
Column A Column B
a. Plasticbottle i, 2.5 months
b. Silk scarf il. 1-2weeks
c. Cotton shirt i, 1030 days
d. Bananapeel iv. 4 years
e. Paper v. Several years

Choose the correct option :

(1) a-v, b-iv, ci, d-ii, e-iii

(2)  a-iv, b-v, ciii, d—i, e-ii

(3) a-iv, b-v, c-ii, d—i, e-iii

(4)  a-v, b, c-ii, d-iii, e-iv

Which of the following statements about the
cells of living organisms is/are correct ?

A. All are microscopic and cannot be seen
with a naked eye.

B. All have a cell wall.

C. All have a nuclear membrane.
D. All have a cell membrane.
Choose the correct option :

(1) AandD
(2) OnlyD
(3) BandC
(4) Only A

An ion X3* is obtained from an element X
(atomic mass 27 and atomic number 13). The
number of protons, electrons and neutrons in

X3+ is respectively :
(1) 10,13 and 14
(2) 14,13 and 10
(3) 13,13 and 10
(4) 13,10and 14

72.

73.

74.

71.

< P-iy
“Iﬁﬁmﬁlﬁmmaﬂq@m%
& | 78 S & 6 7w wwew an A fr
R | 38 T HH FC AW 2w R 2 2
(1) 147N

(2)

(3) 147N

(4) 147N
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FIcTH A Fici9 B
a. A d dad i. 2-5TWRE
b. wrfi ¥ue (W) i 1-2 9E@
c. gt wHA () iii. 10-30 f&=
d. % #1 e iv. 494
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(1) a-v, b-iv, c—i, d—ii, e-iii
(2) a-iv, b-v, c-iii, d—i, e-ii
(3) a-iv, b-v, c-ii, d—i, e-iii
(4) a-v, b, c-ii, d-iii, e-iv
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(1) 10,133 14

(2) 14,133 10

(3) 13,133 10

(4) 13,10 3R 14



75.

76.

(22)
Read the following statements and choose the | 75.
correct option :
Assertion (A) :
Electric current is a vector quantity.
Reason (R) :
Electric current is a quantity having

magnitude as well as direction.

(1) Both (A) and (R) are true, but (R) is
not the correct explanation of (A).

(A) is true, but (R) is false.
(A) is false, but (R) is true.

Both (A) and (R) are true and (R) is the
correct explanation of (A).

(2)
(3)
4)

Densities of four liquids A, B, C and D are
given below :

Liquid A B C D
Density (kg/m3) 785 820 924 1020
Based on this information, identify the correct
statement from the following :

(1) An object that floats in liquid A may or
may not float in liquid B.

An object that floats in liquid C may or
may not float in liquid A.

An object that floats in liquid B surely
floats in liquid A.

An object that floats in liquid C surely
floats in liquid B.

(2)
3)

(4)

Which of the following cell organelles contain
their own DNA ?

A. Plastids

B. Mitochondria

C. Nucleus

D. Vacuole

Choose the correct option :

(1) BandC
{2) CandD
(3) A,BandC

76.

4) A,BandD

frfrfign o @ Afee AN T R g
g9 AT

T (Al :

fargn um o whm AR

7 (R) :

fogr wmr ax o @ foes T dRem g
Fra.ag fam s 2

1 A 3R (R I @ 8 T R, Q) §
el e FET R |

(A F# B, g (R) T 2 |
(A)TTETA R, T (R E B |
cA\w(Raz‘?ﬁuﬂ‘gaﬂhR)‘.(A)ﬁm
=R

TN 7E A.B,C 3R D F waa A9 Ry my § .
7q A B C D

v (femaft®) 785 820 924 10
w gua % aman R, Frafafaa § @ af a
$1 YEEH AU

1) THfamAIg@ AT @ RIBEZT B &
ft gerar 2 3 T ot

tsfim Aizacid@m B aEz@ A K
ft Fhar 2 3 = oft |

uw famm 5 za B § v 2 97 fafvam =y
dza ATt dom |

s fam S ga ¢ # v 2 98 fifwa =
dz3 BH o &m |

fafafes 4 @ & Fifve s 4 =9 5
e FHafdw 2 2

A T (Sf=E)

B. gl (Wrgiit-gan)

Cc. Tfw=w (Hfewgs) -

D. fifwm

wEl fawew +1 =57 Fifyu -

(1) B3MmC

(2) Cc3mD

(3) A, B3RC

(4) A,B3ND

(2)
(3
(4)

(2)

(3

4)



;f Read the following paragraph and choose the

79.

option with the set of words which would fill
the blanks correctly in the given order.

puring fertilisation, the sperm cell from the
father and the egg cell of the mother fyge to
form a W___ which divides repeatedly to
give rise to a ball of cells. The cellg begin
to develop into different organs ang tissues,
This developing structure callegd X

—_  gets
embedded in the wall of \Y~ The stage
Of ___}(__

in which a]l body parts can be
identified is called Z

W, X, Y, Z respectively are -

(1) zygote, embryo, uterus, foetus

(2) zygote, foetus, uterus, embryo

(3) embryo, zygote, fallopian tube, foetus
(4) zygote, foetus, fallopian tube, embryo

Which of the following graphs are straight
lines ?

A. Distance - time graph of a body at rest

B. Velocity — time graph of a body moving
with uniform acceleration

C.

Distance - time graph of a body moving
with uniform acceleration

D. Velocity - time graph of a body at rest
Choose the correct option : -

(1) A, BandC

(2) A,BandD

(3) CandD

(4) AandB

Which of the following reactions are not
feasible ?

(1) Al + CuSOy4
(2) PbSOy4 + Fe
(3) Zn +CaSO0y4
(4) Mg+ ZnS04

78. mmﬁvﬁqmmm

PlvG

Rk

W T T iy R wd e 3

& e 3hm  foep ot = R |

m%mﬁm%msﬁ(m% '

M B __ W W E W awan

ﬁwﬁaimaﬁﬁmaﬁ%rﬁéﬁmmgu

aﬁﬁm%ﬁvﬁ@ﬁaﬂzmﬁﬁwﬁaﬁam

a1 W fwRm g @
X #FedERNFfE_y & faw i

a2 1 X 4 a e Pl

Tl i A e S ar w2z

FHEATT B |

W,X,Y, Z%09: & :

(1) m,w,w,ﬂﬁ

(2) g, ™, THEE, qO

(8) ¥, guaw, femanfeh afomm (sizafa),
™

(4) gmaw, ™, EeafEh afawr (s=afE),
o

frafofees & & #Ra o @nft e (=g

@) ¥ 2

A fom e | fieag #1 gt - w3 7%

B. UHHAM &0 & @Y oA fg/aeg
I - TH

C. THudH & & |y o fgaeg +
g0 - T W

D. fom e # fizag =1 9 —wvg 0w

& fawew &1 =39 Hifsw .

(1) A,B3RC

(2) A,B3W®D

(3) C3MWD

(4) A3INB

frafofga sfufemat & @ =& v
TR

(1) Al +CuSOy4

(2) PbSO4 + Fe

(3) Zn +CaSO,

(4) Mg+ ZnSOy4



8L, Which of the followin

82.

(&h)

& i8 not correct in respect
of the activitieg suggested as part of 'Extended
learning’ in texthooks ?

(1) These form gp important  basis  of
students’ evaluation,

(2) These are an important value-addition to

children's repertoire of knowledge and
skills,

(3) Some of these require students to collect

information of various kinds and draw
conclusions on their own.

Some of these enhance children’s
interaction with experts, teachers and
society at large,

(4)

Which of the following is/are ordinarily not
implied in the context of ‘Content validity’ of
Science curriculum ?

A, The content is updated.
B. The concepts are accurately represented.

C. The concepts are trivialised for some
learners,
Choose the correct option :

(1) AandB
(2) OnlyB
(3) A,BandC
(4) Only A

After teaching the chapter Respiration in
Organisms’ in Class VII, a teacher performs
the following activity with her students. They
take three test tubes and fill 3/4' of each with
water. The test tubes are labelled as A, B and
C. They put a snail in test tube A, a water
plant in test tube B and in C they keep snail
and plant both. The teacher then asks the
students which test tube would have the
highest concentration of COy. Which process
skill is the teacher emphasising in this case ?
(1) Estimating

(2) Predicting

(3) Measuring

(4) Question raising

81.

82.

8
— “ﬁﬁwﬂam’%m%m~
mfgsmnﬁrfaﬁlﬁi%é"«iuﬁﬁﬂfaf@ﬁ;
R R A
) A ekt & R H T
il 8 | | ,
@) &ﬁ%m@%’?‘aa‘m%m
HEIH S A ¢ | |
@ i & g i e g fof ey
0 O et ) o e f
1 ST A 2 |
W ¥ A g g w0 @ R,
gm%mwa”rzﬁaiazﬁmﬁm
|

o Wt A Favrag 3

Y frfofe § & shas HIT: T,

&1 A B 0

A wh e R |

B. @ywmt qunda. frefia £ |

C. Wﬁmﬁﬁ%mammﬁﬁﬁ
TR |

mﬁmmmﬁﬁm:

(1) ARB

(2) $9WB

(3) A,B3RC

(4) FaA

1 VI St 3 v T8 wR ¥ v,
ffim o Rt § o Fefife
ifef Fh 3 1 3 N v R
TF F 34 (M) A m A wRE |
Tl F A, B T C % w9 ¥ 3 5
& 1 3 Wl A § O T 3§, e B
H 0 W 3 C § & wien o rew 3
< & | ffler 7 fornflel & et @ i e
WA § 00y H I FiZw B | 36 A
i fifler v e v maw 2 @ 2
(1) AN

(2) YaH

(3) W

(4) YA M



(25)

PiVG
f [dentify the open-ended question from among |84. Fefafea 6 & gaimtm H yzu= Hife .

the following : (L ﬁ'ﬂm ford == il g7
(1) What is cellulose made of ? (2) AFE Her T TE T T
(2) Why can humans not digest cellulose ? (3) &1 ﬁ’l’l z;f‘a e ﬁ'ﬂ'&ﬁ'ﬂ F g 5% 9

(3) What would happen if humans could
digest cellulose ?

(4) 99 08 S F aw TRy F R Ao
&1 O= TFA ¢ |

(4) Name any five organisms that can digest

cellulose. - i@ o
gs. Which of the following cannot be considered mﬂ mﬁw %zqi ﬁ (a;zx);

as a valid reason for including socio-scientific
issues (such as the GM food) in the school RV % T § e T a1 1 dehal & 2

science curricula ? (1) fm 6t 7$fa 5 999 7 owg 94 0
(1) Helpful in cultivating understanding s 2
about nature of science (2) Th-faas Froa # fTwfog s
(2) Develops argumentation skills (3) HE-HYIE % J Hord T4 Hl G0l H
(3) Develops the capacity to engage in ferpfara
evidence-based reasoning @) uw Fifre fGafaye & =9 9 g $i
(4) Helpful in appreciating science as a Bﬁm | wEEF 2 '
definitive discipline

ge. TmafafEs § 4 FH-T1/& el 8 9909 § qre[
86. Which of the following is/are true about the W Gl uierwal e nfafafiet % @99 A

curricular practice currently being followed in g 23 2

selipolat A WS Haed ¥ faEm ok @ =i

A. Science .and Mathematics 'are being 3 73 R o MR’ T
taught integratedly as ‘Science and
Technology’ in elementary classes. TG ST R |

B. Physics, Chemistry and Biology are being . wansll # i, -

L ysics, )

taught integratedly as ‘Science’ in wd sfia-fasm = Uﬁﬂﬂm ¥ fame’
secondary classes. aE YeiIr Jrar '3 |

C. Science and Social Science are being C. waftes wail # fasm =t 9wl
taught integratedly as ‘EVS’ in primary fa 1 s w9 @ S f s
classes. TG STl % |

Choose the correct option : R EE T T e m:

(1) AandB (1) A3RB

(2) BandC (2) BaRC

(8) OnlyC (3) HawC

(4) OnlyB (4) HIAB



89.

90.

indicator to assess them on this task ?

Ensure that the thermometer does not
touch the walls of the beaker

(2) Pay due attention to the least count of the

| thermometer

(3) Measure the boiling temperature as
100°C

(4) Use a stand to suspend the thermometer

Which of the following would be the most
suitable activity to introduce the concept of
image formation in spherical mirrors in
Class VII students ?

(1) Students are asked to play with shiny,
steel spoons and observe their images in
it.

Students are asked to observe their
images at various positions in a plane
mirror.

(2)

(3) Students are explained the laws of

reflection.

Students are explained the process of
drawing ray diagrams in curved mirrors.

Which of the following is not implied by the
statement ‘Good science education is true to
the child, true to life and true to the
discipline’ ?

(1) Science education should build a link
between the <child and his/her
environmenthpexams.in

Science education should help the
students acquire the processes of science.
Science education should train the
students to remain disciplined in school.

Science classroom practices should be
developmentally appropriate.

(4)

(2)
(3)

(4)

Which of the following can be considered as

the most suitable rationale for team teaching ?

(1) It benefits the students with diverse

expertise.

It is an effective strategy for large sized

classes.

(3) It makes the task of assessment easier.

(4) It is helpful in increasing student
participation.

(2)

87.

88,

89.

&
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(1) =z ghifem s B ool fe g
4l g AR

mrirﬁ%% FHeqadT (FIITH T
(3) gqmaﬁlomcm

(4) omifiet 1 sesr % fw €T 1wy
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have to do questions 31 to 90

Herferat @1 w7 21 2

"R

90 T W wAT Y (nforn @,
ER from Part Il (Mathematics and faary . 4 .
”f’g,,,; OR from Part II (Social _) NI (Frmters s
Seiel  oeial Science), \Fr) @ a7t ¥ 1
PART 111 / s 111

SOCIAL STUDIES / SOCIAL SCIENCE (amfsrs ster | amfor fam)
pirections : Answer the following questiong by | B« ft Tl & I & fro il o
selecting the correct/most appropriate option. e Gay fﬁ‘? /
g1. Who among the following reinterpreted verges | 31- ﬁrﬂﬁf&a 48 e A ] Fad

from Quran to argue for women's education 7 AT FE B T ot 5 of fa

(1) Mumtaz Ali sfvwr fremn wfgw 2

(2) Begum Anis Qidwaj (1) 9o e

(3) Hajara Beebi Ismai] (2) W 7\ CoCH]

(4) Begum Rokeya Sakhawat Hossain (3) wam il v

32, Jyotirao Phule's book of 1873 on the dismal |-, ) W ¥ q@mg}q‘

conditions of ‘lower’ castes was dedicated to: (| 32, s wtai i zém w =fwa T it 1873

(1) Bhakti singers, - q m:' ﬁaﬁ mg!g .

(2) Nat.ionalists of anti-colonial movement of ; (1) fee =l = 7

. India, @ W % RSl wEe %

(3) Anti-slavery activists of American Civil ATl & |
War. (9) ek TR g § 7w v w i e

(4) Brahmo Samaj reformers, T FHEAT 7 |

83. We know very less about tribal groups in the| |, (4) RN WHIA GUNH ) | . %

medieval period because : 33, HOTRE # W FA Ao Ll

(1) they were not living in areas where ﬁﬂmﬁﬂﬁﬁj: .
medieval rulers ventured. () 3% @ § 3w 2w e

(2) they did not keep written records so there qEH | ,
is less information. J2)  a fofes Temam off @a @ win =%

(3) they came into limelight only after the TR A HH IH e R |
British established their rule. @) Bfn wwm ¥ i @9 F o &

(4) they were isolated and lived in seclusion. - ’gﬁ?ﬁﬁﬂg!;;;m.' Fma

34. Consider the following statements : P o ﬁﬁn{m @

A. By the second half of the nineteenth |34. ﬁ:li%ﬂhﬂﬂ_ﬁiiﬂll ¥ o L g
non-Brahmin castes began organising fgams s 3aH @ s W
movements against caste discriminat-non il Gﬁlﬁﬂﬂ ﬁﬂﬁﬁgﬂ.mﬁﬁ
and demanded social equaﬁté:ndjnitl;e-' £ a4 |

B. The Satnami Movement in Central In ia k) ' e
was foundod by Ghasidas who wetad| B PP iﬁ) forgin w0 & Fm w0
among the leather workers and qrgama'ed T A ’i?m fem vd 3E Gitea
a movement to improve their social i S B qun s
status. ‘ fom sgem fm

Choose the correct option ! _ ¥l faeey =1 999 Hifw .

(1) Both A and B are true, but B is not an (1) A #n B 3l & #, 7 B, A ® O
example of A, a ' TR

(2) Ais true, but B is false. 2) AWAR, BT 2 |

® BohAmndBarefibe. | @) ATOR WD

(4) Both A and B are true an i) A3l BEHI @ § W B, AT TR |
example of A.
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36,  The libert Bill was opposed in 1883 because :

a7.

(28)

A. Indians opposed the Bill as it gave a free
hand to the British government to have
trials of [ndians without evidence.

B. Britishers opposed the Bill as Indians
could take up trial of British or European
people.

C. the Bill sought equality between British
and Indian judges

D, the Bill was racist towards Indian people.

Choose the correct option :

() BandC

2) OnlyC

(3) OnlyD

(4) AendD

Consider the following statements with
reference to post-independence India :

Assertion (A);

Despite constitutional recognition of equality
before law, some Indians are more equal than
others.

Reason (R) ;
The ideals set out in the Indian Constitution
have not yet been fulfilled.

Choose the correct option :
(1) (A)is false, but (R) is true.

(2) Both (A) and (R) are true and (R) is the
correct reason for (A),

(3) Both (A) and (R) are true, but (R) is not
the correct reason for (A).

(4) (A)is true, but (R) is false.

Below are two statements A and B in the
context of Khilafat Movement.

A. In 1920, the British imposed a harsh
treaty on the Turkish Sultan (Khalifa).

B. Indian Muslims were keen that the
Khalifa was not allowed to retain control
over Muslim sacred places in the
erstwhile Ottoman empire.

Choose the correct option :

(1) Both A and B are false.

(2) A s true, but B is false.

(3) A is false, but B is true.

, da 2 wad A ol

(4) Both A and B are true,

LT

lmiwdﬁa*mmﬂfaﬁn:
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1ﬂﬁﬂmﬁﬁﬂmtﬂm

ks AR

B. mitmﬁawﬁﬂuﬁmﬁhm
et o faltn @ g e
R el e 4 | A

C. fm 3 sty o welta e &
wA wfvE e T

D. fam v el & 9t T Ty
|

uét faweq w1 wgm Hfie .

1y BawC

2 %W C
@3 Fa@D

L4 AskD
36. ¥ W & qAv # Pt S o

$ifi .
m?ﬁm i quw

LEL T Wy
t.ﬂmm%ﬂ@mmt
e Fe e |
W(R,{:
et wfavE 4 # fau sl | g oo
i aTwR TE o e § |
nﬂﬁm'ﬂmﬂﬁm
(1) wm%gm@h
L2 wzlkm) ot & 3R R), (A T

3 (A)d'!tm)iﬁimt % (R), (A) &
o w7 R
(A) w8, wgcmmt

B, faemea 2T & woi
qf

A 1920 §, 3F 7 76 & geam (wefw)
W @ wwA w6 a § 4@

B. WA quemH wnd 4 fE g3 e
oy 4 feam ofm gfem e W@
weftwr & Fraaor 78 @ wfeg @ |

wh fawew & v fifaw
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mmmwmmmmmu B fordas : i
eimy ) - ﬁﬂﬂfﬂmmmu
Assertion (A) : HrEw (7 .

As the indigo trade grew, commercial agents
and officials of the Company began investing

in indigo production,
Reason (R) ;

Attracted by the pruspect of high profita,
numercus Scotsmen and Englishmen came to

India and became plantery,

(1) Both (A) and (B) are true, but (R) is

not the correct explanation of (A).

(2) (A)istrue, but (R) is false,

(8) (Alis false, but (R) is true.

(4) Both (A) and (R) are true and (R) is the
correct explanation of (A),

Which of the following statements are true
about Buddha's teachings ?
A. Our sufferings and unhappiness are a
8. arultofuwpn.?l-
sufferi unhappiness are a
mnafmn:}wmm
C. Al believers had to accept and follow the
teachings of Buddha for a happy life.
Choose the correct option ;
(1) AandC
(2) BandC
(3) A, BandC
(40 AandB

The increased demand for Indian textiles in

European markets in the sixteenth and

seventeenth centuries led to the following

changes for Indian weavers :

A Expanding crafts of spinning, bleaching
and dyeing

B. Increased independence in working of

craftspersons

Variety in designs and increased

creativity of craftspersons

Working on a new system of advance

payments from agents

Choose the correct option :

(1) BandC

(2) AandD

(3) CandD

(4) AandB

C.

D.

ﬁ-ﬁmumw.mhnﬁﬁﬁ

an Bl § sl f e

- A # fim

FT(R) :

LRl e L R ——

LIE LI I R . &
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e R
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A T ER M om oem R v %
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qftors € |

B. wmt w2 idn el sems 3
ol famat
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41,

“In the register of God's creation, since her
account did not fall under the column of men,
how did she gain from all of her excollont
qualities 7™ For whom was this passage
written in the thirteenth contury 7

(1) Raziyyn

(2) Diddn

(3) Gautami

(4) Rudramadevi

Which of the following statements is/are true

about technology used in the twelfth century 7

A, Archea were constructed to transfer the
weight of the superstructure.

B. The centre of the arch was called the base

stone.
Choose the correct option :
(1) Neither A nor B
(2) Only A
(3) OmlyB
(4) Both Aand B

In which of the following Palaeolithic sites,
were tools made of limestone found ?

(1)
(2)
3)
(4)

Inamgaon
Koldihwa
Brahmagiri
Hunsgi

Which one of the following is mof true for
Mahajanapadas regarding the collection of
regular taxes ?

(1) There were taxes on goods that were
bought and sold, through trade.

(2) Hunters and gatherers also had to
provide forest produce to the Raja.

1
(3) Usually tax on crops was fixed at 3 (half)
of what was produced.

(4) Herders were expected to pay taxes in the
form of animals and animal produce.

(30)

B
mﬂmtuﬁﬂ.mm“
* gt i ot e, wafere, gl e .

41.

el ware) ¥ fads fer foran man a9
“ (1 e
2 fa
() fyef)
(4) wzuEE
42, wied] yaed # owyew MO % gy g
frefafea @ @ Waava su= a8 34 9
wEiE wE % o e am o)
B, WEUM %1 Wea WU SR sweman o
Wﬁmwmﬂﬁm
(1) AaMAsMIAB
(2) ®aE A
Li3) %ad B
(4) AT® BT

43, Prafafas § @ 98 qoE™ 2= § 9900
2 w3 sham fwdt 2 2

(1) A

(2) wifegral

(3) wmfmi

(4 #af

s, Frofafaas § @ #a meeAedl & Fafia &

ﬁwm{aﬁtédﬁaﬂaﬂt?

(1) s i @ ad I3 A g W
& ST AT 4T |

@) FETE aar duEw w1 W de d =
Fegd T # ZA g o |

@) mmmﬁmﬂmm%(m)
o fagifea wran an |
(4) mﬂﬁwxﬁmwmtwi

w2 9Ea 4 |



405,

17.

(3

Which of the following incidents are identified
s violative of ‘The Scheduled Castes and the
Schedulod Tribes (Prevention of Atrocities)
Act, 1089 7
A. Violence by ‘upper casts’ people against
Scheduled Caste people,
Forcing n member of & Schoduled Custe
community to ent obnoxious substance,
Allowing non-tribal timber merchants 1o
exploit tribal land,
Marrying & member of Scheduled Caste
community,

Choose the correct option :
(1) ACandD

2) AABandD

3) ABCandD

(4) A,BandC

“The Mid-day meal scheme has helped reduce
caste prejudices among students end promoted
vocial justice." Explain the statement by
choosing the correct option.

A.  Children of all castes eat together,

B.

C.

D.

™

48.) Taefinfin # @1 fiy
= Wi v smfe

(2) A B3fp
(3 ABC3wD
A4 Apdnc

46w i v 3 il & e i
# 5 w3 § woen )} w0 st am
w1 v frm 17 wh R & v g
W T |

A ot arfad & v wreaa A §

B. In many places, Dalit women are B ﬁmﬂi.zﬁawfma'rﬁmmm
employed to cook meals. Sfmmmg
C. Enrolment of poor children in schools has| ~ C TECH 3 7O ¥l 1 yam #n W o
increased many times, ) ™ _.I )
D. Reduced the dropout rates in schools. D. wAomAfzliwham
tions : faweg o
(1) ACc¥D
(1) ACandD
(2 ABandD @) ABWRD
A3 ABCHRD
(3) A,B,CandD © Theke
% HRmal a1, fefefer 7 3 $ha R wo e
Which among the following provisions ensures e 6 w2
independence of Indian Judicial system ? A =End & # viem @ fanfes
A. The legislature is not involved in the i 78 B
procses.of appolatment of Judges B. =i w St wdwE
B.  Fixad houre of juiges C. =mnd % s ) gEz W= W W
D. ;f::ﬁdm.dminhmthuthtoﬂw D. mmtwmﬁm
Chief Justice of Supreme Court ) mm“g“: < S
Choose the correct option : :
and D (1) AC3rD
:;; :‘,gmdn 2 A.Bﬁa:t
wd) ABC3D
@ A,B,CondD W AB®C

(4) A,BandC
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48. Which of the following pairs are correctly

matched ?
/ n

Work Forms of Employment
A. ‘Mason - Daily wage labourers
B. Domestic worker - Casual workers
C. Vegetable vendor - Self-employed
D. Supervisorin - Businesspersons

a shop
Choose the correct option :
(1) ABandC
2) A Band D
i3 A CandD
4) Aand B

49. The cities have witnessed increasing

rural-urban migration which has resulted in

growth of slum areas near the industrial sites.

The reasons for this type of migration are :

A.  Deterioration in living standards in
urban areas

B. Disruption of rural labour market

C. Decreased agricultural productivity

D. Increased skilled workforee in rural areas

Choose the correct option :

(1 A, Cand D

(2) A, BandD

@ A B, CandD

(4) Band C

Which among the following services can be
included in the ‘Public Services’ ?

A. Police Services
B. Judicial Services
C. Educational Services

D. Construction Services
Choose the correct option ;

(1) B,CandD
(2) A/BandD
(3) AB,CandD
(4) A,BandC

(32)

48. maam&wmmh
I i

T TR & wan
A wrafied) - R o
B. wte] &R - Aafin wam
C. weht faga - =
D. 3&H § gUea - smr)
it fwe w1 v fifiy
(1 A BafNC
L”m AB3MD
3 ACshp
4) A3RB

® RO §

A wElt & # fam & o admfy

B. unfior ®mR W § fawes

C. w& v Hfu smmewm

D. :gwiiiimgigmammﬁ

ot fawen 1 wam A1y .
1) Acsfp
2 AB3IND
(3 A BCHID
(4) B3fwc
50, Fr=fafaa ¥ @ fea amsi w1 ‘sdafas dasd’
4 wfafem fem wnswa 2 2
A.  gfem dand
B. =ufyw dard
c. s dard
D. fmin dand
af! fawey w1 w9 $ifaw .
(1) B,c3hp
(20 A B3MmD
(3) A,B,C3ftp
U AB3RC
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- The work performed by a homemaker goes

(33)

The Supreme Court has interpreted Right to

food, Right 10 privacy and Right to
jution-free water and air under the ambit

of which Fundamental Right granted to

fndian citizens ?

(1) Article 21

(2) Article 19

i8) Article 14

(4) Article 20

“Indian  secularism is  different from

mhﬁmmﬂhﬁiﬂhl}s&'l&nﬁfyt}n

correct options from below which identify the

differences between the two.

A inUSA.neithertbemunuuhpm"

interfere in each other's matters. -

In the hdii:: Constitution, there is a

provision Protection of Minori

Rights, v

Both USA+and India maintain strict

separation between stats affairs and

Eﬂﬁmuaﬂ.’lin.
USA,mteunallawmlpom‘ )

unlike India. reforme,

Choose the correct option :

(1) AandC

(2) BandC

(3) Cand D

4) AandB

The term “All persons are equal before the

law” means

A. that all the citizens regardless of their

socio-economic status have to cbey the

same law.

no person can be discriminated i

i“mmﬁhlﬂ.um:ﬁ.‘:‘hﬂ;

race/colour, religion, caste or gender.

inequalities cease to exist,

it ensures fair ities and a life of

dignity for all the citizens.

Choose the correct option :

(1) B,CandD

(2) A,BandD

(3) A,B,CandD

(4) A, BandC

Di

B.

C.
D.

unnoticed and unpaid as compared to the
official work performed by an office going lady
who gets salary and respect. Examine the
possible reason behind this :

(1) Less time taken for household work

(2) Overvaluation of official work

(3) Patriarchal set-up of Indian society

52,

L
5 XF

i
i
:
i

i
7 1

(4) Devalustion of household work

%ﬁlmmﬂmmh1
B.:?ﬁﬁﬁi il = & mme
Tevadl, wi, Wfy sww o %
W W Sewma T fem mEwma k)
C. e gars A )
D. 7 guwm avfrel & fao S Fq
e da w=aR
wht famen %1 wam fifaw .
(1) B,c3mD
20 AB#RD
(3) A.BC3tD
4) ABshC
B4. FTem 9 aeh wfgen fa@ ey v wwm
freran & zm Fronfza siffen s wm ) g
4 oty wfeen zm Fwrfza ®m e @@
%mhw&ﬁtmmﬂaﬁ
(1) w1 & fom w5 gug =
(2) ®W F AT
(3) WRAR F9TR 6 Fgw wmaen
LA4) T W FAGEA
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87.

During & cluss activity, the teacher asked
students o select dolls which identified closely
with Adivasis. Most of the students picked up
dolls wearing colourful clothes, head gear and
in dancing postures. What does this behaviour
demonstrate 7
(1) Stereotype
(2) Discrimination
(3) Progressiveness
(4) Prejudice
Read the following statements and choose the
correct option -
Assertion (A)
Federal system fulfils the needs and demands
of the cultural diversities in India.
Reason (R) ;
It establishes multiple levels of governance in
the country.
(1) Both (A) and (R) are true, but (R) is
not the correct explanation of (A).
(A) is true, but (R) is false.
(A) is false, but (R) is true,
Both (A) and (R) are true and (R) is the
correct explanation of (A).
Being prejudiced towards someone implies :
A. Tojudge them negatively.
B. To consider them superior.
C. To disrespect those who are different.
D. To discriminate against members of a

2)
3
(4)

group.

Choose the correct option :

(1) B,CandD

(2) A,Cand D

3y AB,CandD

4) A,BandC

Match the following pairs :
Types of Farming Areas/ Regions

A. Shifting [. Semi-arid and
cultivation arid regions

B. Commercial Il. Thickly populated
grain farming Areas

C. Intensive III. Thickly forested
subsistence areas
agriculture

D. Nomadic IV. Temperate
herding Grasslands

Choose the correct option :

A-111, B-IV, C-I1, D-I
A-1, B-I1, C-IV, D-III
A-IL, B-11, C-1, D-IV

(1)
(2)
(3)

(34

4) A1V, B-1, C-111, D-11

qartoe
frafafgs waai ®

JEYT (A)
mm,mia@ﬁm&maﬁ*
savwEnHAT a9 7t W ged s R
o 2w & st & e wor (=)
& # by
(1 (A 3R 24 wh o ),

ot s TR | RS | A) 6
A Th R, g R e R
(A)7Teid 8, S (R @Rt &
(A) 3 (R) 21 &8 & a9 (R), (A) 6
e |

(2)
(3)

8y

57. ﬁwﬂ%nﬁmiﬁmﬁi:

A TR THEIHE §9 A @A |
B. 3% 399 (W) WEAT |
c. 1 am fim & 35 sFE % |

B. afufsues 1. |99 W aF &

3T HfY
C. me faafe e 111, #97 @9 @@ 41
D. wear gyEny [V, idon gra & f7F
uft fawey w1 wm $ifaw ;
A1) A-lll, B-IV, C-11, D-I
(2) A-l, B-II, C-IV, D-III
(3) A-II, B-III, C-1, DIV
(4) A-IV, B-1, C-111, D-1I
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PG
‘ p ich Meridian Time is 12 noon, then | g9, af dfae amrm *
59 Eh(;mrhauuum-ua'mwtm? “..ﬁm“&m?u““‘**
(n gm~ “Al) 3% s
:g: m..;i:. (2) Bﬁvfl
&) 2pm. | (3) 10 %% yaiy
Gen caves are formed in constal areas. Select (4) 2% SR
) e : Pt & f 3% wm w) wam D -
2) Erosion and deposition by waves = :
(3) Man made activity () Y1 A .
(4) Falling of rocka (2 mﬂmm@ﬁh
6l Mimﬂmlimﬁnﬂmathhwdhih (3 W At iy
" it nto two equal parts is known as the 4) &= w1 firmn
— . |
o . EELT L
)
:m Arctic Circle (1) W& |
(4) Tropic of Cancer wA2)  fayen
¢2. Consider the following etstements about (3) JIo.gEw g
latitudes. Which of the following is correct 7 4 W&
(1) Tropic of Capricorn passes through|g2. wwisl & wit # Prafefgn o3l W Ran
southern hemisphere.  _ iy | Prafafga d 2 damwhl 27
(@) Arctic Circle is at 237 north of the| () e v e sivemd & dvst T @ )
equator. ” @) m-?lqaﬁwlwt 23% I i
(3 mwcmnnza-z- south of the fewa By '
e @ eyl T fagea 23;
(4) TropicnfCamplnulhmqhm!lm CRC R
hemisphere. () % tan Zfif) siremd @ v ol §
63. Choose the correct statements about the globe | g3, Frafafn € 2 wie & ot § af s w =
from the following : #ifam .
A mmwmdumm A T W gy ot 2w ol e §
B. Itis tilting on its axis. B. W W Y W “‘;‘"'
C. Itisatrue model of the Earth. C. wmyehw |
D. Tltisoval in shape. D. I ¥EmE SR
Choose the correct option : aft faweg w1 v faw .
(1) A BandD 1) AB3fhD
(2) B,CandD (2 B,c3lRD
(3 A,CandD 3) AcC3ND
Natarsl vegetatin varie from place o place,|  &4) A B3N i
S Sttt vegustion vacks |64 TR ofads @ urphe st § 0 gads
md,;mmmmnmmumﬂ ggww'wmtmﬂ
the iate reason from the ?
(1) Heavy rainfall and high temperature Al i avi st I anEe
(2) Moderate temperature and moderate @) e AEE i we av
rainfall @) fe ol st 3w aE
:3; m':inhﬂhﬁhwmmmm (4) weu a9l afk Fa= v
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65. Which of the following means of transport is | 65.

cheapest for carrying heavy and bulky goods
over long distances ?

1) Railways
2) Waterways
(3) Airways
(4) Roadways

Suggest the type of resources we should use
more, in order Lo save our environment.

(1) Renewable resources

12) Non-renewable resources
(3) Human made resources
(4) Abiotic resources

Choose the false statement from the following
statements on ‘Energy Resources’.

(1) Solar energy is renewable energy. (
{2) Biogas causes greenhouse effect.
(3) Tidal energy is exhaustible.

(4) Wind energy is non-polluting.

Gulf Stream is a warm ocean current becluae
it s.in

(1) gets heated from underground

(2) moves from poles W equator

(3) gets heated by hot springs

(4) originates near the equator

Match the following pairs correctly :
Column | Column 1l

A. Ozone layer I. Troposphere

B. Radio transmission  Il. Exosphere

C. Weather phenomenon 111, Stratosphere

D. Thin air IV. Thermosphere

Choose the correct option :

(1) A, B-IT, C-II1, DIV

(2) A1, BIIL C-IV, DI

(3) A-IV, B, C-11, D-111

(4) AL, B-IV, C-L, D-1I

Stratosphere has ideal conditions for flying

aeroplanes. Choose the correct reason :

(1) Low air pressure

(2) High air pressure

(3) Free from clouds and related weather
phenomena

87.

iwﬁwnmmmm:;”\
mmh uy

Eraforfign & & T & Wy

b

hal
(2) W’{

(@ g

(4)  wgws

I WA B TR §
mﬁmﬁmmhh
¥R |

(1) el wEnE

@) sl senEt

@) wre B danat X

(4) ¥ T »
frfefan st & 2 ‘Sait gmar
H94 w W $ifdw |

(1) mﬁiMFﬂa|

(2) W, MR T H A b
(3) vy F war vt &
(4) T HA WS OA R |
TS WM, ™ A Fewm R s 3

|
(1) e (qf & =) @ mi Bt @
(2) §A & presta ) A e 2

4
'@v,.

\ ;‘)

T oy

@) 7 9E & s (EE) g R R

(1) A, B-II, C-1II, D-IV
(2) A1, B-III, C-IV, D-I
(3) A-IV, B-I, C-I1, DIII

L) AL, BV,C-L DI

70. wwateiea ) oRfeafeal wad dEw A &
foro. stz wret & 1 T T TR AR
1) Fmagze
(2) IAAY T

487 el T Mam gl ges @ g B

(4) Windy conditions

@) i areh sftfefad (49 TE)
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74.

137

To familiarise students about election
in India, which vne of the following
would be the best pedagogical method ?
(1) Organizing an election in the clasy for
class ropresentatives
Asking students o conduct survey in
their neighbourhood about election
Screening w documentary on 5 loeal
election
(4) Inviting an expert for a lecture
The best possible practice for
students towards the life of
nmadkpamim.wb:
(1) lecture and seminar.

(2) screening a movie or documen
Bakarwals, .y -

2

3

tribals and

(1) OnlyB
(2) OnlyC |
(3) A,BandC

(4) Only A

mhiﬁhh#n? i
H owm d e shaffus
v WIS HEA e = =
@ ﬁvﬂﬂﬁﬂ%qﬁ;iwmﬁ
w3 & for wwn "
3 vy R yafes
e ﬁ“"ﬁg‘:ﬂmiﬁhm&a
w3
?mt!ﬁﬁumﬁm“ﬁtgh
WU QW B
(1) =rE va Sfem
(2) B ﬁ;‘ W o
“W“‘TI%
(4) TEUFETE w234 |
73 wmmtnﬂmwmw
R wR s W e W pem
ﬁﬂﬁlﬁuiﬁﬁmmmwﬁ?
(1) iﬁmﬂﬁwiﬁmgﬁ:ﬁt
) EwEE, P ey R
A "Rm&“ﬁm|
(3) Wﬂ‘ﬁﬁgﬂ]ﬂhm
aﬁﬁmm:ﬁg;
@ w9 A Wi o ow owm W e
HAT |
74. ‘mﬂnmmﬁummﬁmq‘
s 7w wrefs wanst & frarfds =) Pen
AT A W R T s fasfafaa §
A WA 3w W A A 2
A AR % R W s e T
TR, i s et 6
. YA @ A W
B. =m 9A d w@ aeh = fearn |
N ST & Wi vy S wr
c. Tfrm gezdi & ¢4 =il € wiE =
ﬁumw&mmﬂw
W ¥ forg et e |
w4 fowen ® 9w B .
(1) &&= B
2) FFECw
3) AB3nc
Lo4) &aa A
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76.

(38)

What kinds of questions can students

in order to test their factual lmowlodg:?? saked

(1) Knowledge of  classifications
categories

(2} Knowledge of terminologios

(3)  Strategic knowledge

(4)  Knowledge of subject-specifie skills

Which of the following assessment questions is

me m:: din;ppmznnw to test students’
rs and appreciation i

fod ! - PP of Indian

(1) What are the three levels of the

government ? What are their functions ?

Write a brief note on the three organs of

the state — the legislature, the executive

and the judiciary.

What do you think might happen if we

did not have any state and local

governments and all decisions were made

at the Centre ?

(4) Define federalizm.

Read the following statements and choose the

correct option :

Assertion (A) !

A scrapbook is an effective way of making

students learn about the different types of

vegelation present in various regions of the

world through pictures.

Reason (R} ;

A scrapbook must be assessed only by the cost

of different materials used in it,

(1) Both (A) and (R) are true, but (R) is

not the correct explanation of (A).

(A) is true, but (R) is false.

(A) is false, but (R) is true.

Both (A) and (R) are true and (R) is the

correct explanation of (A).

Consider the following assessment question :

‘Why does a democratic country need a

constitution 7

Which of the following answers given by your

students indicate a lack of understanding of

the question ?

(1) Student B : A constitution gives us a set

of rules on the basis of which a country is

to be governed.

Student C : A constitution ensures that a

dominant group does not use its power

against less powerful groups.

Student D : A constitution usually

contains rules that ensure that minorities

are not excluded from anything that is

routinely available to the majority.

Student A : A constitution lays down

rules that guard against the misuse of

authority by our political leaders.

and

2)

(3)

(2)
(3)
4)

(2)

(3)

4)

:

4)

ik
17 4

%
i

135
S -a
-

3
:

i
%é,?

ZEl wft §, W1 (R), (A B
e v TR

(A)FH R, 9 (R) e B |

(3) (AT .;‘l;umi@%l

4) (A #Rta}z = & a4 (R), (A) B =@
g wadt fFrefaiEa s v faEm :
‘Qt;m&maaa&aﬁmﬂmwﬂ

27
ffafgs § 8 w981 3w zuia & fnd
I 9 F aHw T R ?
(1) faendi B ; dfaum &6 vs Fawas 2ad
mmv@%ﬂmmﬁmmg
aﬁswma:l{gﬂl
faramedi D : dfyue @ 3 fram wfae € @
w3 ¥ f srevaens 36 fd 0
A ® afda 3 & @ agerH w AR
Iqere # |
4)  faendi A ; dfam 39 fawt # 99 = k
W@ o aeEeE JaiE g e &
ZH9AN @ & W R

Li2)

3
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(39)
Rﬂd“"‘““""iﬂimmuwmmln PG
correct option : 1> mh“&‘mhaﬁ L I R ——
Staterment A : 7 A '

The nature of Social Science is evidence-based i

pirical and verifiable. 1 i fm & e s
Stotement B : T S g g '
Its study nﬁgn. leads 1o multiple $9 R -
interpretations of a single event. gﬂmm T W & WA mmn
(1) Both A and B are false. WA I R
(2) A is true, but B is false, 1) A3 B2 em §
(@ Ainfalse, but B is true, (2) AWAR wIBTEA R
(4) Both A and B are true, 3 A';:ﬂ %QBKQQI

4) ASRBZRIiwhE |

Some students of Class VI question that if the 80, ) &1 VI & %9 faurd]
Earth is not flat, then how ]l T i o A b ot ot
everything as flat 7 are maps show e 4 R, M ﬁmwm :

What will be the best way to address this

question ?

(1) Showing the maps to the students

3) :'::“mmﬂtaurhnh

( them to find out the reason
themselves

(4) Showing the globe to the students

Rosy drew a picture of a woman as a nurse

and a man as an engineer. On asking the
behind it, she replied, ‘women make

better nurses because they are more patient

and gentle, whereas science requires a

dealing with technical thingy’,

What does Rosy’s statement reflect ?

Read the following statements and choose the
correct option :

Asszertion (A) :

Social Science has a strong correlation with
Arts.

Reason (R) :

Paintings, sculptures, prehistoric artifacts,
etc. represent proof of many domains of Social
Sciences.

(A) is false, but (R) is true.

Both (A) and (R) are true and (R) is the
correct explanation of (A).

Both (A) and (R) are true, but (R) is not
the correct explanation of (A).

(A) is true, but (R) is false.

(N
2)

(3)

(4)

LK

(1) P % orfe e ©

@ wdm & ww oy R e 8 ok

st i, Tl qud @ firergen &
u gmﬂi%ﬁ'ﬂm

(3)

|

81,

U 1 weR w1 Toatda sk 2
“n iu%m

(2)
ez Fftem ==

(3)
(4)

g2, frafofam wedl w ofgn 7o o fems =
A i

HARFE (A : N
gmﬁwhﬁwmtmmgm

I

7% (R):

famemd, witfaefas i
w2 wmm 1 wt m
ayE & Befa wa f

A TeE R, T REA R
waﬂttm}dﬂvﬁﬁm(m.wﬁuﬂ
qre R |

(A) 3R (R) ZF wh E, g ®), &) B
oh = J7 R

(A) il R, 9 (R) e R

W)
A2

(3»

4)
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(40)

Consider the following assessment question :
‘What is the difference between weekly
markets and shopping malls 7

Below are some answers written by students.
In which answer does the student fail to
display ability of comparing/contrasting ?

(1} “Weckly markets do not have permanent
shops whereas the shops in shopping
malls are built to last.’

(2) “The products sold in weekly markets
could be bought at cheap rates whercas
only a few people can afford products sold
in shopping malls.’

(3) “Weekly markets run in both rural and
urban areas whereas a shopping mall is
usually seen in urban areas.”

(4) “Weekly markets are markets which are
held on a specific day of the week
whereas shopping malls are
maulti-storeyed buildings with shops on
different floors.’

Consider the following assessment gquestion :
“What are the ways in which people can
participate in a democracy 7" Fo are
some answers that you get from students.

Which answer vreflects the student’s
understanding of the question and his/her
ability to give a comprehensive ‘to-the-point’
answer 7

{1) *Veting, dharna, rallies, social
movements.”

(2) ‘Some key elements that influence the
working of a democratic government
are — people’s participation, resolution of
conflict and commitment to equality and
justice.’

(3) ‘By voting in elections.’

(4) ‘In a democracy, people participate by
voting in elections, All gévernments are
elected for fixed periods. In India this
period is five years.’

83.

84,

‘granfes a3k wn
Frerfifdl g0 RA §9 I AR g vy g L7
miﬁmﬂuwﬁgmmuqmﬁ\
w1 vz s d FEsa Raa g o w,
(1) ‘grenfes R # wwrh
mmmﬂgw?:iwm“l
weht € 1 ™
2) ‘srafis som ey g
zﬁuuﬂimnﬁt“ﬂ;,&?m
P T T R
T Ewsa € b
(3) ‘srafRes Srem amiv g 2 W
e A g

Frafafen qgrams sodt 99 v faaw i .
Tiwa § wm e alet @ wrfied o

v & 7 faoidEl o e 3o 3= @ 6
o 2

R I ol % v 9 Wt s o

3) ‘gTa A mgagE g 1

C4) ‘dirwax |, & g9 § waga g/ NriEd

oo =+ st € | wra | 9w svafy ofe o
Lo e
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Which of the following are the prevailing

misconceptions about Social Scienco 7
A. Itis a non-utilitartan subject.
Natural Sciences are superior to the
Social Sciences.
It rewml- memorisation of supoerflyous
The only job option open to students
specialising in the Social Sciences is in
academics.

Choose the correct option
(1) Band C

(2) ABandC

3) AB,CandD

(40 A,CandD

Which of the following concepts (A to D)
understand the concept of the Torrid Zone ?
A. Longitudes

B. Globe

C. Insolation

D. Latitudes

Choose the correct option :

(1) B,CandD

(2) A, CandD

(3) AABandD

4) A Band(C

B.
Ci
D.

correct option :

Assertion (A) ;

The change in nomenclature, from Civics to
Political Science was to bring back the focus
towards issues of contemporary India.
Reason (R) :

‘Civics' appeared in the Indian school
background of increasing disloyalty among
Indians towards the British Raj.

(1) Both (A) and (R} are true, but (R) is
not the correct explanation of (A).

(A) is true, but (R) is false.

(A) is false, but (R) is true.

Mﬂ"”wmumdchmﬂn@

(2)
(3)

Pt

wim-upend § 2

B. feam, woafes foxm @ e 4 7
, _
D. wwifa% farm 4 fomen wa frodie
(Franfad) & o # |

af w1 v i

(1 B3fc

@ AB3fhc
“3) ABC¥D

4) A c¥wD

86. IM #friu ) vEeE W TR & B ovw
= % Fofafan semms A3 p 3 2
el wrafiys af) 6 wfiem 2

g

L

Tope

mﬁmnwﬁﬁq
(1 B.Cc3mD

2 AcC3mD
i3 AB3RD

4 AB¥MC
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waaft wfafafuc
88. Which of the following activities would help | 88. w % W = m(mm
children to critically think about women's LLIE e Y T
work tn society ? wra fawfia ® ufeenai ¥ w i
A Asking students to write slogans A faafdat o RrEs & Wyt »
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(1) OnlyC uft fawey w1 w9 difag .
(2) Aand g; Ahﬂ C
3) BandC
) C
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" ‘Government’, which of the following questions '6‘:; e i ;T H W,
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sociul awareness and eritical thinking skills in foram *tve 941 fsfa s@ & for Frafafas
them ? _ # & fm woa ¥ g1 W1 e # 7
(1} ‘What are the features of a democratic (1) "R 0 f‘qﬁquq i
government ¥ £ ) )

(2) ‘List out three differences between a (2 mwmm%ﬂﬂtm
monarchy and a democratic government. HW ﬁﬁq |

(3) 'We saw how the pandemic had (mh;pﬁ‘ & ot & dhm o o
disproportionately placed the burden. of ErETT W 3 T
healthcare on doctors and frontline wrEEiE W A ¥R s g
workers. Do you think any protest wn I e § AEw {7 &
e o e demanding _better W A TER F TG FH V2w
IL“ff.‘&'n&f’“? 'E::;m your .pmmmmn IR R ? FR I AR S wfe
reasons,’' $fau |

(4} “You have been noticing for quite some \;9 39 Za R fe *q 7w
time that the area near your house gets mmmt.mmtmm
flooded every time it rains during the ESECICR A R I R S
monscon  seaton. You and = your Y e W A % e e
neighbours decide that something has to ,a? &= 3§
be done regarding this issue. Which level % Swen L | ¥, T A &
of government - Local, State or Central, 8 fem = ) T wwa % gw A
would yuu.rnppronch if you have such a mﬁm ﬁﬁ:ﬁ?’ e & for sfm

90. Awmmwﬁ@exmmmmmﬁ@ ?ﬁm R W ::n Rrah & : Py

for her lesson plan as : ‘Students will be able & : X

to compare & weekly market with a shopping HrAed Tran qen W ST F W

complex’, This objective will require students mﬂmﬂﬂ’lmﬁntmﬁuﬁﬁﬁ

to demonstrate their : AT weffa w0 1 snavgem gl |

(1) Understanding ) w9 il“)

(2) Application (2) 313!'!%’4

(3)  Analysis (3 favem

(4) Knowledge (4) M
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(54) B
PARTV
LANGUAGE 11
ENGLISH
Directions : Answer the following questions by|125. Read the following statements and choose the
selecting the correct /most appropriate option. correct option :
Assertion (A) :
121, Which of the following supports a pre-reading Prompting students to  recall
activity ? knowledge is important. Previoms
(1) Using a prediction task Reason (R} :

(2) Asking learners to summarise the text
(8) Teaching grammatical structures
JA4) Using paraphrasing tasks

122. Which of the following is true about remedial

teaching ?
(1) Showing sympathy to backward students
L/w Providing support to improve
performance
(3) Providing extra marks to improve
performance »
(4) Giving extra attention to gifted children
123. Read the following statements and choose the
correct option :
Assertion (A) :
English is an associate official language in
India.
Reason (R) :
English is taught as a foreign language in
Indian schoolshpexams.in
(1) Both (A) and (R) are true, but (R) is
not the correct explanation of (A).
(2) (A)is true, but (R) is false.x

3)
(4)

(A) is false, but (R) is true.
Both (A) and (R) are true and (R) is the
correct explanation of (A).

124. Which one of the following is not a
characteristic of a language ?

\_+#1) Language is static.
(2) Language is symbolic.
(3) Language is social.
(4) Language is systematic.

Recalling the previous knowledge help,

students connect the known knowledge to th,,

new knowledge.

(1) Both (A) and (R) are true, but (R) in

not the correct explanation of (A).

(2) (A) is true, but (R) is false.

(3) (A)is false, but (R) is true.

(4) Both (A) and (R) are true and (R) is the
' \// correct explanation of (A).

126. A teacher of Class VIII asked her leamers 1,
produce a leaflet about saving energy at home
as an assignment. This task will cater ¢,
which feature of language ?

1) Positive imperatives
(2) Question forms
(8) Comparative
(4) The past tense

. While planning a lesson, onc of the objectives
ie to enable learners to produce typical
business communication with customers. This
objective matches with one of the types of text
genres listed below :

} Description
(2) Report
(3) Article
(4) Letter

A teacher asked students to look at the four
musical instruments in the picture, and
discuss why they are used in different musical
contexts. Choose the cognitive skill that
matches this activity :

(1) Composing

_{2) Analyzing

(3) Reasoning

128.

(4) Imagining
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(1) Code-switching m (‘ﬂlm-'rm Bethod
S EE’:.ZT.m method anguage teaching
3 PO ' m (3) Task-based CLtm
(4) Sociolinguistics @) hrl.h
: ' ) 135. Chetan'
Children's informal interactions s first language |
p. v ) ) ' M‘ [ b &J‘W
1 and ml:tmmhtpc with others iy t::: ""'*"‘ﬂl' ll:n?mﬂ Nady, he 5, n. Since
cr::rmmn:;mrm g-wm their use of which Bhoj ’“”wbﬂg'lpuh m"m’"’:‘
language ? Ralives. DEw  pecomd
1) Assimilation ""‘"“”‘I the native angusgn, thes oo
42 Accommodation (1) &nbt:ruu“h ;
13) Language socialization @ Coderin: hngualism
4)  Enculturation (3) Code-switching
In the \4) Bilingualism
. In case of vocabulary "
W arovides s pathway fo leamengs e STemmar | Directions : Read.the possage gioen el and

A1) re-tell listening inputs into oral output ansoer the questions (Q. Nos. 136 to 143) that followw

and communicative expressions Reach Out! is an organization that runs
@ gl"ﬁwm&wﬁ&uinm week-long summer campe, designed to give young
@ Soek b _ pecple the skills to be the leaders of the future. The
- and "mhﬂmﬂﬂmmhﬂphmamﬁhtmmtb
accuracy and confidence. wish to improve not only themselves, but the world

. o arvund them. Varying in from 12 to 17, young
132. Which one of the following is not a classroom mmummm;pmcmmm

source for les in teaching-learning
E:gunge?r e ’ duﬁhﬁmmthzmﬁ.nqlpmdthirﬁm

(1) Reading corner learning leadership  skills, considering and
(2) C]mmﬁm ciil:uuin‘in:portnntim;uchupnﬂuﬁmmd
(8) Classroom procedures health, and helping in the local community. They
4 Word wall also meet many other people who have the same

interests and belicfs and frequently make
133. Read the following statements and choose the | friendships that will last a lifetime,

Amrﬁan(.u-: There is no average day at the camp and
' individoalsed learsi changes are made to the timetable, which is handed
:mm;ymnlmm Mhemmltmlﬂwwmhrnﬁﬁum“uuy
Reason (R} : ‘ come up. However, camp members generally get up
Ty o | . at 7:00 a.m. and, once they've eaten breakfast, start
dnewmh e their day with outdoor games to get them warmed
(1) Both (A) and (B) are true, but (R) is|UP ©F the busy day ahead. There are workshops in
not the correct explanation of (A). the morning on skills such as public speaking. and

(2) (A)is true, but (R) is false. then there's an hour for lunch at noon. For one hour
o ' in the afternoon, camp members have the

(3) (A) is false, but (R) is true. : b
(4) Both(:);nd{R)mmﬂmdtR}il&l opportunity to select from various activities that

" correct explanation of (A. include dancing, yoga, basketball and song writing.
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During the time at camp, there is a day known
as Action Day. This is when amall groups go out
with an adult group Jeader to work with
organisations in the neighbourhood.... Reach Out!
This can involve organisations dealing with housing,
journaliam, healthcare or the environment, to name
just a few. FEvenings are spent watching
documentary films or listening to guest speakers.
The aim is o encourage the young people to go out
and make the world a better place.

136. Read the following statements and choose the
correct option :

A.  Reach Out! camps are week-long summer
camps that are organized all agross the
world,

Young people in the age N&Of
12 — 17 years attend these camps.

These young people come to learn
leadership skills.

A and C are incorrect, B is correct.

B and C are correct, A is incorrect.

A and B are correct, C is incorrect.

A, B and C are all correct.

(n
(2)
(3)
1)

137. Why do young people from all over the world

come to these camps ?
».A1) To improve themselves and the world
around them
(2) For fun and friendships
A3) To while away their time

(4) To improve their leadership skills only

138. To prepare themselves and get warmed up for
the busy day ahead, the young people :
(1) eat a heavy breakfast.
(2) getup as early as 7a.m.\
um partake in some outdoor games.
(4) attend workshops.

(56)

139. In the afternoon, which of the ﬁ)“o'-]n'
.cﬁmmmnmpmmbonm-oleﬂ?

W) Yoga and public speaking
(2) Basketball and songwriting
(3) Dancing and yoga L
(4) Basketball nnd dancing -

L

The camps are justifiably named ‘Reach Quyp
because :

(1) mn;peopkﬁndhudﬁngwmh
camping site.
\?(2) members are encouraged to collaborate
with neighbourhood organizations.
(3) they are action packed throughout the
day.

(4) young people work under group leaders.

141. All the seven days at the camp are ;

\ 37" action days.

(2) planned in a way to collaborate with jocal
organizations.

(3) tiring and average.

(4) not the same routine-wise.

142. Identify the underlined words (parts of speech)
in the sentence given below :
They also meet many other people who have
1) adverb, adjective
(2) adverb, noun
(3) conjunction, verb
(4) preposition, noun

143. Complete the word analogy :
confident : shy :: average : ?
(1) below par
(2) similar

J8) extraordinary

(4) understated
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ppvf
“:;‘:‘m‘m’wmmﬁdlem
by “Let’s g0' We are going to be later

Glen glt'f_‘il_*!“ he tightened his mh‘m]ﬂl
'-;‘”'!j_\ﬂtmhcr faces broke intg 4 mile ypon
ng his words, They could not wgi
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was only @ small lazy stream of dirty wat o in it

Wich §T%a% U0, Glen, the leader of the pact
hi’“‘h‘m*”“lhﬂnﬂinpmda;mm
deiﬂ,'mmﬂdm&dm”
“’mmuhhww“mml l

mm.mmh@mu‘”.]
merbernwdinhthnlirhnmnmu]umuldheu

Mwmmm.wmm&:m
anyone. Glen spied many tiny fish dart;  and fro
in the murky water. They had no economical value
dwENWWMMMJM

cracks of his fingers.

144. How many boys had missed school to go
fishing to the canal that day ?
(1) Five
\2) Four
(3) Three
(4 Two

145. The word ‘lazy’ in the phrase ‘a small laxy
stream of dirty water’ means :
A1) slow
(2) tired
(3) lethargic

and
150) that follow

146, Why did the Pvg
minute ? PEAE Erim braver by
(1) M h"
(2) They were excited 1 s
ve missed achoo|.
They knew :
# bm:w "0 longer s the school
147, Where should
of the day boys have been at that time
B(1) At school
(2) At home
(3) Playing with friends
14) By the canal

Soon, his friends joined Glen at the canal.
excitement.

The boys caught fish in the dirty water.
(1) DSCBwA

‘-_,(2] C-O__A—FB-—'&D

3 BoA-D-C

4 A-C—=D—B

149. Identify the underlined words (parts of speech)
in the sentence given below :

Glen spied many tiny fish darting to and fro in
the murky water.

(1) wverb, noun

(2) adverb, adjective

«43) verb, adjective

(4) adverb, noun

150. Complete the word analogy :
imposing : impressive = truancy : ?
(1) absentecism

(2) foolhardiness

(3) tying

+4) murky

€ (4) play-acting



